PHY131 F Fall 2020

Class 5
Today:
» Chapter 2 Kinematics: Motion in One
Dimension

* Problem Solving Examples relevant to the
Synchronous Midterm Assessment
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Here is the velocity graph of an object that is at the origin (x =0 m) ’ REPRESENT MATHEMATICALLY ‘
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Shannon drives at a constant speed on the highway. She measures ’ REPRESENT MATHEMATICALLY ‘
the time between passing successive km markers separated by
exactly 1.000 x 103 m. If she measures a time of 48 seconds, what
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A speed skater moving across frictionless ice at 8.0 m/s hits a 5.0- ’ REPRESENT MATHEMATICALLY ‘
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In an 8.00 km race, one runner runs at a steady 11.0 km/h, and ’ REPRESENT MATHEMATICALLY
another runs at 14.0 km/h. How far from the finish line is the
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Poll

Heather and Jerry are standing on a bridge 50 m above a river. Heather throws a rock straight down
with a speed of 20 m/s. Jerry, at exactly the same\nstant of time, throws a rock straight up with the
same speed. Which rock has the faster speed as/it hits the water? [Neglect air resistance.]
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Before Class 6 on Wednesday

Read the first 3 sections of chapter 3:
3.1 Force

3.2 Representing Forces with Vectors
3.3 How is Force Related to Motion?
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